Sparsity and Optimal Power Flow,
LPOPF algorithm

Ruilin Dong



Optimal Power Flow
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Incremental LP Method
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Trust Region Method
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Sparse vs Non sparse

Sparse vs Non sparse
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Add MVA Constrains

» MVA stands for Mega Volt Amp or Volts * Amp /1000,000
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Questions

» Reference:

A.  Giacomoni and B. Wollenberg, "Linear programming optimal power flow utilizing a
trust region method,” in Proc. of 2010 North American Power Symposium, Arlington,
TX, USA, Sep. 2010, pp. 1-6.

B. Quora. Retrieved from https://www.quora.com/What-is-the-meaning-when-we-
say-load-requirement-is-10-MVA




Thanks for watching




